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Cryn : 3 wedl | : [ Qurss waHiCuensHeT : 150

Time Allowed ;: 3 Hours | ; [ Maximum Marks : 150
ol ¢ smandg ellomsaend sfuTs udleurd) o cfrengr erebugaen sflurTHgs

Qererarayn. yFatudlels Gapdimudes, Sjenmn  seosTeduuTertlib
2 |_esngurgd Clgflalssal.

Instruction : Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

Uifley - &y / SECTION - A

Gy s 1) Sjoarsg allamssEhheh ellenL welfl&eeyD.
i)  eflurer elloLmws CefbClsBHe (LS.
Note : i)  Answer all the gquestions.

ii) Choose and write the correct answer. B0 x1 =230

1. Heassl ol §&arGpram 2 wmeaursen Crmuydifl
2) Glet@arevCurymr GluisGeoti =) enLifig Gendlur spemyeim
@) erpCarGuoreaimay Fdl : ) g.nﬂrﬁmr EDELITETY.
W'hi.(:‘h pathogen causes Tikka disease of groundnut ?
a) Cercospora personata b) Pyr[culaﬁa oryzae
) Xanthomonas citri d) Tungro ﬁ!rus.
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2. LIEBTLOLG e S m@sufréa@h GoudluGILmTsT
=) Fadluib 2|) umell asglellan dlanendbame
@) ersdler BECset EE‘G‘{EI.IH@&E‘IL'. #) Hmeusslanlet.
Polyploidy can be induced by
a) Caesium b)  Polyethylene glycol
¢}  Ethyl methane sulphonate d} Colchicine.

3. wyyeufl eemsiumiger siuoLde gralsdons srar aeidle Guobur®

2{eL B & HbUD
<) WBlyGeavendl 2,) 2flGad
@) ey isdlGL g B) e Grdl.

The highly advmicc{l family in monocotyledons, according to phylogenetic system

of classification is
a) Musaceae b) Arecaceae
¢}  Orchidaceae d) Asteraceae.
4. ghlushwmeusay eTeuE et 6 STeursSlas el
S  Leml =) Uletaysee
@) Glysiom F)  &ossempn Gleg sell.
In Abelmoschus esculentus, the fruit is
al drupe b) schizocarp

c) regma d) loculicidal capsule.
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C, sreutiseflen ahep 2 enp Cladamefle o drer CO, - gheb GlurGsT

=) RUBP =) PEP

@) PGA . k) DHAP,

The acceptor molecule of CO,, present in the bundle sheath cells of C, plants is
a) RUBFP h). PEP

c) PGA d) BHAFE.

Ligi i 860016 & ) o @Gﬂmnﬁ}@ﬁﬁr 2 galllerrés ADP-Seflmmha ATP 2 (meurdslufn
EER

9))  epefl umeuiifle e 2),) 2 &edlmCGarhp ureuuifleremd
@) serlGummet ureLiflsyemiD w)  aphdl urenuflegeoib.

The process of ATP formation from ADP in the presence of light in chloroplast is

called
a) photophosphorylation b} oxidative phosphorylation
¢}  substrate level phosphorylation d) eyclic phosphorylation,

wredlé spblevsdlar Hours Fey

=) 0-36 a) 1

@) 1:33 F) (PG eubmal.
The respiratory quotient of malic acid is

a) 0:35 Lt

cl  1:33 d) infinity.

[ Simiing [ Turn over

for nmore visit http://school.tnpscquesti onpapers. comn

WWWV. T npscauest ronpaper s..com ——




http://school .tnpscquesti onpapers. con

1043 : 4

8. Qeeassemer apleuanss Sreuoiheus -

=) @idelleb 2y) shlirebies
@) emsl GLreansees F) el dlE egblub.

Closure of stomata is caused by
a) auxin b} gibbrellins
¢] cytokinin . , d] abscisic acid,
9. &pssciti_meuseile BiIHs SWSHHEMEE GODHEGE Bl e
o)) @eriralysdlenr 2] Clyestlsst & RULITE Hen
@) EemuiGlugmes - F)  @enaedle.
Which of the following decreases blood pressure ?
a) Interleukin b)  Renin inhibitors
c) Interl‘e-:mn i d) Insulin.
10. Dr. M. S. sgeumblimmsesr %qn@éﬂ anlolib Sjemnhgieten FiLb
=) Glaeimeansm C=y) @pben
@) esSeanr ) g Gl duell,
Dr. M. 5. Swaminathan Research Institute is situated at
al Chennai ‘B)  Mummhbai
¢] Lucknow : dl New Delhi.
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& (P& Setol_eUDmIen 678 GnIbLISE BTealmb 7
21) Bargenn : , o) yenslanen
) @fusnid : F)  wasTEGarenD.
Which of the following is a short day plant ? |
al  Wheat b} Tobacco
¢l Sun flower d) Maize.
EQEmIT & (T ﬂ‘@L.é}_n'ﬁ' gnihgleren &Hbub
S GuGud : =) CleurdGendl
@) GurGudl . F)  emeuBL 4l

Oryza sativa belongs to the family

a) Fabaceae k) Verbenaceae

] Poacesae ) Vitaceae,

695 w-qrﬁﬁleﬁ‘r GGG SYHES cc:.q__@rr@ GUEMETILIRISETI 60T 610 GnTieh s & il mﬁau&;gl
& &80T LMl uigy

3))  Gls CrmeGymenimeusd] <) @l GurGusseg)

@) Sdfuneg) _ w)  umedlermeughl.

The determination of the age of a tree by counting the Iannual rings is called
a) Dendrochronology b}  Phytopathology

] Physiology d} Palynology.

she s EhHEh CinTdls enseh Bl Cu s sien Qam_ oL s Hhseursef

=) Buisdt whmb LjesTe &) eurlgest whnin Sifls

8)) - Gail whipih dleued] 7)  Uig e whmpib Lrllb.

'he relationship between genes and enzymes was discovered by

a). Bateson and Punnett b} Watson and Crick

ol Campand Gily: d} Beadle and Tatum.
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15. saurdlpseder Gura anfudal s Cueldl tupdns aemims flemllsen

Carganean

<) edleut gydenCerm il Lt Comgemerr 4] URBGSPS WHIOID Leores ey

@) Coanmhidle seaurgwme .ga‘;_ﬁmq. 7))  Gaamridlear gpeflgdleanr oLy,

The experm_—lent used to demonstrate liberation of CO, during respiration is

a) Lever auxanometer experiment b) Test tube and funnel experiment

¢) Ganong's respiroscope experiment d) Ganong's light screen experiment.
16. Geulr grealsener 2 hughdl Qlaluaa

=) Glufleng e =) gengaGambaen

@) wers&Gariletmeul @ser F)  2eEGmmen.

The root hairs are produced from

a) pericycle . b) trichomes

c) trichoblasts ' d) en d@de.r mis.
17. euveedler Geusfliyn =&

=) erGarGiibley =) Guflenssdlst

@) ossECsmen F)  evaptGurGiLidle.

The outermost layer of the stele is

a) rhizodermis b) pericyFIC

c) endodermis d) hypodermis.
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18. Glen E‘-JIT@EEF.’E-TIS:l @) @uppieTen gemm
2} wreGees B1) raGeree
@) %E&T@&ﬁ:ﬂ?@%ﬂﬁ‘ﬁﬁh .  F) ureslEoreGud .
Solanaceae is placed under the order
al  Malvales b) Ranales
cl [nisexuales d] Polemoniales.

19. uCrmGuorGenbaailar Sa@sisme @apa Gsda Ufsellsr Gury yGrmsGueay -6
e BlEmeuiley Blapdlng). '

=) mEEarl @ Bl,) L hdlees
8 wiGenmean " 5)  GlaotiBLreed.
Recombination of chromosome ifakes place in .................... stage of prophase | of
meiosis.
a) Zygotene : b)  Pachytene
¢) - Diplotene d} Leptotene.
£ 20. gen @Lib nrhiluesnsaiu L @G rGorenray Ll melle Qewes
£ o =) anriGuorss o hugdl

1) 2 sr;%'!r'r@unrq;;a’r 5 fHuddl

@) méen awnGlaniamy Sassac

B)  oeooremenol Lom e LS s,

Pseudomonas putida is an engineered bacterium that can

a)l produce a hormone b)  produce an antibiotic

¢) digest crude oil slick d) pollute the soil.
[A] [ AlpOys / Turn over
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21. Sereumelemeubmiet ersl (upag @L@m@ﬁﬂg_mmm 7
) H:G"U[Q;.L'_L._I'I.' =) alduaih
@) Lyedym w1 rGernl Grmum,
Which of the following is a total parasite ?
a) Cuscuta b)  Viscum
) Droé&ra d) Monotropa.
22. yrgé Gefbomemws Glam mdl mase, sausen saCnan
S) UGA ' <) AUG
@) AAG R) UAG.
The starting codon of protein synthesis is
al UGA | b) AUG
c) AAG d)l UAG.
23. DNA ppaudantlen ol Lo
=) 34 A =) 154
@) 20A ' B) 30A.
The width of DNA mtlzblecrulf: is
a) 34 A b) 154
c) 204 _ d  30A.

24, aewrddlun wEpsflaws GphgeTen Elaneusel LGl L el GuUeinl sl pL 63T & memlliuHiD

HITeurid
3  wGumidlur Fmsserafl ) w CumiiSlum ey evong Gammd
@) ol Cumur @iseay w) Gt e @edlon.

The leaves around the cyathium become bcaﬁtii‘ull}r coloured in
a) Euphorbia tirucalli b)  Euphorbia antiquorum

c¢) Jatropha curcas d)  Euphorbia pulcherrima.
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25. ‘umensuselle Qlamitée et &1 6511060 L0 &5 s LILI (e

=) lyevr urngedlurer =) Gl Aalil Hur GlygdCeor
@) mresGereur e Sravsiiluetdley F)  GlapellGsmatiur &b,

The bird of paradise flower refers to
a)  Musa paradisiaca b)  Strelitzia reginae
c] Ravenala madagascariensis d) Heliconia sp.
26. GuBUS EREDUS sTay Gaaddle eramiu@b @ U FHapan
S) S G QUE QoD %) SEES GO Yo
@) sl @ GLE W | k) ellaflioy @e el (B weon.
The type of placentation seen in the members of fabaceae is
al axile b}  basal
¢) parietal d) marginal.
27. Gamdflur eublig@ellGliyr sreuy suumg e wehs e ﬁé:lTLb
<) 28 <) bubLLR
@) 106U . F) 8L,
In Corypha umbraculifera, the spadix measures about
a) two metres b) five metres

c¢) ten metres d) eight metres.
[A] ; [ #imoys { Turn over
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28,

29,

30.

ﬁﬂ-&@dé’r@kpﬁiliﬁﬁméﬂ Lien mjemen S50 (H 2 emi il SIreuin

=) fGur@ el gres Sy)  wrg B
@) =ECanyen ) LredltG Uiy wib.
Vessels with multiple perforation plate is seen in

a) Liriodendron b)  Magnifera

¢ Acorus d} Polypodium,

SUUGlaIIL  DISe&EE: bl @aﬂmé HHEHSEIGHEGD, SHET DRESMISHGD 2 Hayb
Glgcume

=) Seldar Gledms 3l,) gEnemissmeal 66l
@) yeveblumib Gladisel F)  ersvemeu LMTestenaon blocusmen.

The cells which are helpful for the rolling and unrolling of the leat according to
the weather changes are

a) silica cells ' .b] subsidiary cells
o) bulliform cells . d) border parenchyma cells.

HHmBeanpn ureuuflaremb el Clumib blene

3} Slemersmmeldsy

=) dlylen &pnél

@) eoupals sible SseblonBarbp e ;-?éaath
F)  eresL el sl s shdlel,

Oxidative phsophorylation occurs during

a) Glycolysis

b) Krebe': cycle

c) Oxidative decarboxylation of pyruvic acid

d} Electron transport chain.
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34,

35.

36.

37

38.

39.
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.ﬂﬂm—t%fSEUHON-B
&l ermf;ul’.gu.@}u‘n udlemenhal exlesiimend m?!atm_u._;ﬁlﬂéa&;ﬂ;m.
Note : Answer any fifteen questions. 15 %3 =45
LmLILedsll eul Lih eTeBImres eTaiten ? er(RESIHRHETT R Hih-
What is epicalyx ? Give an example.
eLlGTT o B SIUILLE 8 au.qsu 2jeuebleul’ LD aTeRpmey eTebtent 7
What is papilionaceous corolla ?
C, smeunhisefler ushmedlab ger @liheiy e 1_J$ﬁ|mrm%15;lb arestu@ Sl
Why are chloroplasts in C, p.lants called dimorphic chloroplasts ?
speilldareurs SHheh GG sarssEbeh GlenGu o dier GeaupurEeeen ol
Write the differences between photorespiration and dark respiration.
DI euemifLiL Shebledl Lt i Wwiremell 2
What are the uses of gene mapping ?
LI WTESID eTebimmey erement ?
What is transcription ?

Blgeor  whpns praGaoer sregaseEssdlolCu 2 efer Gapur@eea gGsaib
(DEBTEnD STpEI.

Write any three differences between Musa and Ravenala.

@@ut’&& FBHRSENDbE sUTUEGHTT SHEnD & edlDTew eTerer ? sTHas&aT(E H(hH.

What is bicollateral vascular bundle ? Give an example.

urredlsesr @CrrCur@emblen Lk ausyhs: Lirshs et @,

Draw the diagram of polytene chromosome and label the parts.

[ #lmiys / Turn over
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40). @ngﬂl&@&ﬁrc‘;mm Gfaﬁlp;.rré‘u sreRtem 2
Define chemosynthesis.
41, diptie a phddle _E@{G&rrmﬂ{gl_.a‘rﬂ]ﬁﬁf Glewsoum(® wrg 2
What is the role of aconitase in Krebs cycle ?
42, gotlenels yelell aretimmen ereiier
What is compensation point ?
43. urdeflubsefla Greul feayes Qnrdlaefle uig edan 2
What is the role of restriction enzyme in bacteria ?
44, uredl e sdlellen Hemendands eraTmmen eredan ?
What is PEG ?
45. QuenGLme ursuGul suflgar sflen padludse s o Gaaib ppeemn o ips).
Write any three significances of pentose phosphate pathway.
46. Glamt g Grrélen srektmmen erebrent 7 >
What is heterosis 7
47, gdleh wmibleray sreauyHdle \nmSSEU LI SHaner sTps).
Write the medicinal value of Aegle marmelos.
48, aueniddl oy Gdlee genicy aresian 2 aRSHHSN [ HibE.
What is 4 growth inhibitor ? Give an example.
49,  (gefliTugeonn ef sb1DFey eTesTes 7
What is vernalization ?
50, GlaraGad) ghousdea nrpdans srantad glsapb aperan @il
Write the binomials of any three medicinal plants of Solanaceae.

[A]
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fley - @ / SECTION - C

@L’ﬂi}"‘f e =y ereme Bwismin (LD cullemi & G thig; allemis B, Sermmyen
afleorn eretol 54 e S Twere el seflse Celdn i, :

i)  Guemeuumss GiLhissiidy LD auenrs .

Note : i} Answer any seven questions including Question No. 54 which is
compulsory.
ii) Draw diagrams wherever necessary. ' 7 x5 =35

51. adla 2 ws sragalud Guur G st sdld widlu snsisa gGamb whaos
6T (Lp 516

Write any five salient features of ICBN.

52. Sque ghaens Gubm s euhsele semarhoimTaa adiflyssips bl sEhawnrs

ET(Lp .

Give a brief account of herbicide resistance in transgenie plaﬁi.s.
53. ;jﬂmr‘rmrrrj;.m&,;ﬂsﬁ! pédlugsoudas allarse.

Write the significance of mutation.

54. - @meilgdlaned sreuy Beoedldr @ohe Cai@s GCarbpsest LD - aembhs

LI Bl e 6 éh (G
Draw and label the parts of T.S. of a dicot leaf.
55. ST whpib m;@-é]!g;mmr‘rﬁ;@&d?!.mu@m 2 _giren Seupur H&sener eripai.
Write the differences between disc and ray floret.
56. Carmaramalnr dla ubbl @by eupsa.
Write a short note on collenchyma tissue.

57. aipndl epel undvuflarangdiben, &phsibe el unevuflereoddibend Gl Gu

2 sitell Geumium Baeman eripg-

Write the differences between cyclic photophosphorylation and non-cyclic

photophosphorylation.

A | &limtinye / Turn over
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58. SCP urpﬁ Fn @bl erqps).
Give an account of SCP.

59. QUG i Ha ubdl Golil srge.
Write a note on pc.r iderm.

60. glugellsiiseflen eurpalud aflamerays e erupg.
What are the physiological effects of gibberellin ?

61. wmsgeupdle petraniflsen bl @iy eagsl.
Write short notes on microbes in medicine.

62. sLgg RNA [ {RNA ) ellett cuenihgl Unaimaner @i

Draw and label the structure of (RNA.
Uifle) - w / SECTION - D

Goloy i) aoeBugb prdtg ailon beense alleml sk,

i) Gaemeuwren @)L dsealles ULD surs.

Note : i) Answer any four questions.

il) Draw diagrams wherever necessary. 4 x 10 =40

63. Cubsd wHb USsEST sreur amstuTlgee alafl. ( oLLeaeean o6

allendain )

Discuss the outline of Bentham and Hooker's classification of plants. [ Outline

flow chart or explanation )
64. @laCavmrr srdeadloflur areurdas somead Glerhasernme alaf,
Describe Ixora coccinea in botanical térms.

65. @mallgdlamad sranssang b, s sllgdleoezsrarssanghed G Cu o srer

2 srememiniiiiues Geupurfseaner e(ps).
Write the anatomical differences between dicot stem and monocot stem.
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@@Un@mn@éﬁm ety dpl Slld cusnssamen allende.

Write an account on chromosomal aberration on the basis of its structure.
sreurs Ha cueriiiflen ol GFwd .!_b_I['_L.I[EIﬁ‘rE'ﬂII%‘I"I_ aillem g, .

Explain the basic techniques of plant tissue culture.

Qprdlaa Qeuarhpibd alsdaos ﬁ}ﬂaré,@m Garlur@emen allensg.

Explain the theories 01;] enzyme action.

Flenersmraildlen Ly Blaasamen allerég ( allandsn Sdes aemyuLb ).

Write an account on glycolysis. ( Flow chart or f_‘xIIJlana_tiun 1

2 0fl 2_priset LpHl s &R o

Write a detailed account on biofertilizers.
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